
Time: 10 Minutes Paper Math 5 Total Marks: 10

5th Month, 4th Week, 6th Day Syllabus:    (Monthly Test)

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. Area of a rectangle in 45 m
2
. If its length in 15m, then its width will be:

¢¢¢¢aaaaììììXXXXZZZZkkkkÅÅÅÅaaaahhhhZZZZððððƒƒƒƒÏÏÏÏ:::: 15 ZZZZqqqq----llll»»»»ggggKKKK

(a) 6 m (b) 3 m (c) 5 m (d) 15 m

ii. Formula to find the permeter of square is: %%%%,,,,ÆÆÆÆZZZZqqqqðððð»»»»ÃÃÃÃggggññññÑÑÑÑìììì::::

(a) 2( +w) (b) 2 +w (c) +2w (d) +w

iii. If length of the side of a square is 16 cm, its area will be:

vvvv¢¢¢¢aaaaƒƒƒƒÂÂÂÂZZZZkkkk»»»»ggggKKKKƒƒƒƒÇÇÇÇ:::: 16 ZZZZ¤¤¤¤////ËËËË%%%%,,,,ÆÆÆÆIIIIÅÅÅÅMMMMðððð

(a) 156 cm2 (b) 256 (c) 121 cm2 (d) 232 cm2

iv. If sum of some quantities is 600 and average is, 50 then number of

quantities will be:

ƒƒƒƒÂÂÂÂllllZZZZggggzzzzVVVVÅÅÅÅ®®®®ZZZZƒƒƒƒÏÏÏÏ:::: 50 ZZZZggggZZZZzzzz‰‰‰‰ 600 ZZZZ¤¤¤¤////¼¼¼¼llllZZZZggggzzzzVVVV»»»»ùùùù····

(a) 15 (b) 12 (c) 10 (d) 5

v. Ahmad jumped 12 in a minute, 9 times in second minute and 15 times in

third minute. What will be overage of number of jumps Ahmad died ______.

ÔÔÔÔ****ÎÎÎÎññññXXXXZZZZyyyy9999....3333ðððð EEEEFFFFVVVVÅÅÅÅZZZZzzzz‰‰‰‰CCCCNNNN 15 ÔÔÔÔŠŠŠŠ}}}}4444~~~~ 9 ****ÎÎÎÎññññÔÔÔÔŠŠŠŠzzzzuuuu}}}}4444~~~~ 15 ZZZZ££££ääää¬¬¬¬4444~~~~

����ZZZZ££££ääääÎÎÎÎññññ::::

(a) 9 (b) 11 (c) 12 (d) 15

Q.No.1. Find the average of the following: (2)

::::ŠŠŠŠgggg̀`̀̀ffffssssÅÅÅÅZZZZzzzz‰‰‰‰¥¥¥¥xxxx™™™™,,,,:::: 1 ÎÎÎÎZZZZwwww����

10 cm, 13 cm, 17 cm, 16 cm, 19 cm

Q.No.2. Find the perimeter of the rectangle: (2)

::::[[[[»»»»ZZZZqqqq©©©©¥¥¥¥xxxx™™™™,,,,:::: 2 ÎÎÎÎZZZZwwww����

 = 3 cm, W = 2cm
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